
  

OCTOBER 2011 U/ID 1414/JHB 

Time : Three hours Maximum : 100 marks 

SECTION A — (10 × 3 = 30 marks) 

Answer ALL questions. 

All questions carry equal marks. 

1. State the limitations of Statistics. 

 ¦ÒÎ°¯¼ß Áøµ¯øÓPøÍU SÔ¨¤kP. 

2. What is meant by tabulation? 

 AmhÁøn¨£kzxuÀ Gß£uß ö£õ¸Ò ¯õx? 

3. State Baye’s theorem. 

 ÷£¯_ ÷uØÓzvøÚU TÖP. 

4. Define Mathematical expectation of a continuous 

random variable. 

 öuõhº \©Áõ´¨¦ ©õÔ°ß Pou Gvº£õº¨¦ 

Gß£uøÚ Áøµ¯Ö. 

5. What is a scatter diagram? 

 ]uÓÀ £h® Gß£x ¯õx? 
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6. What is meant by fitting of distributions? 

 £µÁÀPÒ ö£õ¸zxuÀ Gß£uß ö£õ¸Ò ¯õx? 

7. State the applications of t-distribution. 

 t–£µÁ¼ß £¯ß£õkPøÍU SÔ¨¤kP. 

8. Define contingency table. 

 JÊ[S AmhÁøn Gß£uøÚ Áøµ¯Ö. 

9. State the importance of sampling. 

 TÖ Gkzu¼ß •UQ¯zxÁzvøÚU TÖP. 

10. What is meant by local control? 

 EÒPmk¨£õk Gß£uß ö£õ¸Ò ¯õx? 

SECTION B — (5 × 14 = 70 marks) 
Answer ALL questions. 

All questions carry equal marks. 

11. (a) What is meant by classification of data? 

Describe various methods of classification. 

  uµÄ ÁøP¨£kzxuÀ Gß£uß ö£õ¸Ò ¯õx? 
ÁøP¨£kzxuÀ •øÓPøÍ ÂÁ›UPÄ®. 

Or 

 (b) What are measures of locations and 

dispersion? Explain their merits and demerits. 

  ø©¯ ©ØÖ® Â»PÀ AÍøÁPÒ Gß£Ú ¯õøÁ? 
AÁØÔß {øÓ ©ØÖ® SøÓPøÍ ÂÍUSP. 
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12. (a) (i) Define continuous random variable. 

  (ii) Let X be a random variable with the 

probability function given by  

( ) ( ) 82,3 ≤≤+= xxaxf . 

   (1) Calculate a . 

   (2) Find [ ]53 << xP , [ ],4≥xP   

  [ ]5.05 <−xP . 

  (i) öuõhº \©Áõ´¨¦ ©õÔ Gß£uøÚ Áøµ¯Ö. 

  (ii) X  GÝ® \©Áõ´¨¦ ©õÔ  

    ( ) ( ) 82,3 ≤≤+= xxaxf  

   GßÓ {PÌuPÄa \õºø£U öPõskÒÍx 
GÛÀ 

   (1) aß ©v¨ø£U PnUQkP. 

   (2) [ ]53 << xP ,  [ ],4≥xP  

[ ]5.05 <−xP  BQ¯ÚÁØøÓU 

PõsP. 

Or 

 (b) Find ( )XE , ( ) ,2XE  ( )[ ]2XEXE −  and 

[ ]cbXaXE ++2  for the probability 

distribution given below : 

x : 8 12 16 20 24 

( )xP  : 1/8 1/6 3/8 1/4 1/12 
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  RÌPõq® {PÌuPÄ¨ £µÁ¾US ( ),XE   

( )2XE ,  ( )[ ]2XEXE −  ©ØÖ® [ ]cbXaXE ++2  

BQ¯ÚÁØøÓU PõsP. 

x : 8 12 16 20 24 

( )xP  : 1/8 1/6 3/8 1/4 1/12 

13. (a) (i) What are regression lines? 

  (ii) Find out coefficient of correlation 

between X and Y based on the following 

data : 

X : 90 96 96 94 98 112 110 120 

Y : 88 89 88 86 84 118 116 130 

  (i) Cøn¨¦ÓÄU ÷PõkPÒ Gß£Ú ¯õøÁ? 

  (ii) RÌPõq® uµÁ¼¸¢x X   ©ØÖ® Y   
BQ¯ÁØÔØQøh÷¯¯õÚ JmkÓÄ 
AÍøÁø¯U PõsP. 

X : 90 96 96 94 98 112 110 120 

Y : 88 89 88 86 84 118 116 130 

Or 

 (b) (i) Define binomial distribution.   

  (ii) Fit a Poisson distribution for the 

following data : 

No. of failures of a machine : 0 1 2 3 4 5 6 

No. of shifts : 82 42 31 12 8 3 2 

[P.T.O.] 
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  (i) D¸Ö¨¦¨ £µÁÀ Gß£uøÚ Áøµ¯Ö. 

  (ii) ¤ßÁ¸® uµÂÛØS £õ´\õß £µÁø»¨ 
ö£õ¸zxP : 

C¯¢vµzvß £Êx GsoUøP  : 0 1 2 3 4 5 6 

÷Áø»¨ £SvPÒ GsoUøP : 82 42 31 12 8 3 2 

14. (a) (i) What is a chi-square test? 

  (ii) A fertilizer mixing machine is set to give 

4 kgs of nitrate for every quintal bag of 

fertilizers. 100 kgs of Five bags are 

examined. The percentage of nitrates are 

given below : 

   2, 6, 4, 3, 1. 

   Is there reason to believe that the 

machine is defective? 

  (i) øPÁºUPa ÷\õuøÚ Gß£x ¯õx? 

  (ii) Eµ[PÒ öPõsh JÆöÁõ¸ SÂshõÀ 

ø£PÐUS® Eµ® P»US® C¯¢vµ®  

4 Q÷»õ AÍÄÒÍ ø|m÷µm AÎUQÓx.  

100 Q÷»õ Gøh²ÒÍ 5 ø£PÒ ÷\õuøÚ& 

°h¨£mhvÀ 2, 6, 4, 3, 1 GÝ® \uÂQuzvÀ 

ø|m÷µm C¸¢uuõP AÔ¯¨£mhx. Cuß 

‰»® AÆÂ¯¢vµ® £ÊxÒÍx GÚ 

wº©õÛUP C¯¾©õ GÚa ÷\õvUPÄ®. 

Or 
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 (b) Table given below shows the relation between 

the performances of students in geography 

and geology. Test the hypothesis that 

performance in geology is independent of that 

in geography using 5% level of significance. 

  Geography 

  High 

Marks 

Medium 

Marks 

Low 

Marks 

High Marks 56 71 12 

Medium Marks 47 163 38 Geology 

Low Marks 14 42 85 

  ¦Â°¯À ©ØÖ® ©so°¯À BQ¯ÁØÔÀ 
©õnÁºPÎß vÓß ¤ßÁ¸©õÖ PshÔ¯¨£mhx 
GÛÀ, AÆÂ¸ £õh[PÎ¾® ©õnÁºPÎß vÓß 
Jß÷ÓõöhõßÖ \õº£ØÓuõ GÚa ÷\õvUPÄ®. 

  ¦Â°¯À 
  E¯º 

©v¨ö£sPÒ 
ªu 

©v¨ö£sPÒ 
SøÓ¢u 

©v¨ö£sPÒ 

E¯º ©v¨ö£sPÒ 56 71 12 

ªu ©v¨ö£sPÒ 47 163 38 ©so°¯À

SøÓ¢u 
©v¨ö£sPÒ 

14 42 85 

15. (a) Write a detailed note on sampling and non-

sampling errors. 

  ©õv›•øÓ¨ ¤øÇ ©ØÖ® ©õv›•øÓ¯ØÓ ¤øÇ 
Gß£Ú SÔzx J¸ Â›ÁõÚ SÔ¨¦ ÁøµP. 

Or 
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 (b) Perform the analysis of variance on Latin 

square design given below at 5% level of 

significance and state your conclusions. 

 Factor 1 

 B   16 C   21 A   15 

Factor 2 A   18 B   28 C   14 

 C   15 A   18 B   12 

  R÷Ç ÁÇ[P¨£mkÒÍ »zwß ÁºUP Aø©¨¤ØS 
©õÖ£õmk £S¨£õ´øÁ 5%  ªøPzußø© Áµ®¤À 
÷©ØöPõsk E©x •iÄPøÍU SÔ¨¤hÄ®. 

  Põµo 1 

 B   16 C   21 A   15 

Põµo  2 A   18 B   28 C   14 

 C   15 A   18 B   12 

 

——————— 


